\_\_\_\_\_

This section of the FEDERAL REGISTER contains documents other than rules or proposed rules that are applicable to the public. Notices of hearings and investigations, committee meetings, agency decisions and rulings, delegations of authority, filing of petitions and applications and agency statements of organization and functions are examples of documents appearing in this section.

## DEPARTMENT OF AGRICULTURE

### **Food and Nutrition Service**

## Agency Information Collection Activities; Proposals, Submissions, and Approvals: Child Nutrition Program Operations Study–II (CN–OPS–II)

**AGENCY:** Food and Nutrition Service (FNS), United States Department of Agriculture (USDA).

# ACTION: Notice.

**SUMMARY:** In accordance with the Paperwork Reduction Act of 1995, this notice invites the general public and other public agencies to comment on this proposed information collection. This collection is a revision of the currently approved collection for the Child Nutrition Program Operations Study–II (CN–OPS II) [OMB Control Number 0584–0607]. The purpose of the revision is to update the survey instruments for school year (SY) 2018– 19 to include topics of current interest and collect timely data to inform Child Nutrition Programs (CNP) operations.

**DATES:** Written comments on this notice must be received on or before August 13, 2018.

**ADDRESSES:** Comments may be sent to: Holly Figueroa, Social Science Research Analyst, Special Nutrition Evaluation Branch, Office of Policy Support, Food and Nutrition Service, USDA, 3101 Park Center Drive, Room 1014, Alexandria, VA 22302. Comments may also be submitted via fax to the attention of Holly Figueroa at 703–305–2576 or via email to *holly.figueroa@fns.usda.gov*. Comments will also be accepted through the Federal eRulemaking Portal. Go to *http://www.regulations.gov*, and follow the online instructions for submitting comments electronically.

All responses to this notice will be summarized and included in the request for Office of Management and Budget approval. All comments will be a matter of public record.

**FOR FURTHER INFORMATION CONTACT:** To request more information on the proposed project or to obtain a copy of the data collection plans, contact Holly Figueroa, Social Science Research Analyst, Special Nutrition Evaluation Branch, Office of Policy Support, Food and Nutrition Service, USDA, 3101 Park Center Drive, Room 1014, Alexandria, VA 22302; *Fax:* 703–305–2576; *Email: holly.figueroa@fns.usda.gov.* 

**SUPPLEMENTARY INFORMATION:** Comments are invited on: (a) Whether the proposed collection of information is necessary for the proper performance of the functions of the agency, including whether the information shall have practical utility; (b) the accuracy of the agency's estimate of the burden of the proposed collection of information, including the validity of the methodology and assumptions that were used; (c) ways to enhance the quality, utility, and clarity of the information to be collected; and (d) ways to minimize the burden of the collection of information on those who are to respond, including use of appropriate automated, electronic, mechanical, or other technological collection techniques or other forms of information technology

*Title:* Čhild Nutrition Program Operations Study–II (CN–OPS–II).

Form Number: N/A.

OMB Number: 0584–0607. Expiration Date of Approval: 07/31/2020.

*Type of Information Collection Request:* Revision of a currently approved collection.

Abstract: The objective of the Child Nutrition Program Operations Study–II (CN–OPS–II) is to collect timely data on policies, administrative, and operational issues on the Child Nutrition Programs. The ultimate goal is to analyze these data and to provide input for new legislation on Child Nutrition Programs as well as to provide pertinent technical assistance and training to program implementation staff.

The CN–OPS–II will help the Food and Nutrition Service (FNS) better understand and address current policy issues related to Child Nutrition Programs (CNP) operations. The policy and operational issues include, but are not limited to, the preparation of the program budget, development and implementation of program policy and regulations, and identification of areas for technical assistance and training. Specifically, this study will help FNS obtain:

Federal Register Vol. 83, No. 114

Wednesday, June 13, 2018

• General descriptive data on the Child Nutrition (CN) program characteristics to help FNS respond to questions about the nutrition programs in schools;

• Data related to program administration for designing and revising program regulations, managing resources, and reporting requirements; and

• Data related to program operations to help FNS develop and provide training and technical assistance for School Food Authorities (SFAs) and State Agencies responsible for administering the CN programs.

The activities to be undertaken subject to this notice include:

• Conducting a web survey of approximately 1,750 SFA Directors.

• Conducting a web survey of all 55 State Agency CN Directors.

*Affected Public:* State, Local and Tribal Governments (SFA Directors for public schools and State CN Directors).

*Estimated Number of Respondents:* The total estimated number of respondents is 3,379 (1,814 respondents and 1,565 non-respondents). Three State CN Directors and six SFA Directors are expected to participate in the pre-test. The estimated number of respondents for each of the web surveys is as follows:

(1) *State CN Director Web Survey:* The sample for this collection includes all 55 State CN Directors (50 U.S. States, 4 U.S. Territories, and the District of Columbia), all of whom are expected to respond.

(2) SFA Director Web Survey: The sample for this collection includes 2,188 SFA Directors selected, using a stratified probability proportional-to-size (PPS) design, from the universe of SFAs operating in public school districts in the U.S. and outlying Territories that are required to submit the FNS–742 Verification Collection Report Summary form. Of the full sample, 1,750 SFA Directors are expected to respond for a response rate of 80 percent.

Estimated Frequency of Response per Respondent: SFA Director and State CN Director respondents will be asked to complete their respective web surveys one time. Each State CN Director may

Notices

receive up to four follow-up/reminder emails and up to two reminder phone calls until the target of 55 respondents is reached. Each SFA Director may receive up to four follow-up/reminder emails and up to three reminder phone calls until the target number of 1,750 respondents is reached. FNS estimates that respondents will average 3.02 responses (5,479 responses/1,814 respondents) across the entire collection, with non-respondents averaging 4.38 responses (6,860 responses/1,565 non-respondents). Across all participants in the collection (respondents and non-respondents) the average number of responses is 3.65.

*Estimated Total Annual Responses:* The estimated total number of annual responses is 12,339. This includes 5,479 for all respondents and 6,860 for nonrespondents.

*Estimated Time per Response:* The estimated time per response ranges from 2 minutes (0.03 hours) to 3 hours depending on the instrument. The average estimated time for all participants (respondents and nonrespondents) in this collection is 20 minutes (0.33 hours) per response.

*Estimated Total Annual Burden on Respondents:* The annual reporting burden is estimated at 4,101.87 hours. See Table 1 for estimated total annual burden per respondent type.

Dated: May 31, 2018.

## Brandon Lipps,

Administrator, Food and Nutrition Service. BILLING CODE 3410–30–P

Table 1. Burden Table CN-OPS II Year 4 (SY 2018-19)
---

	ble CN-OPS II Year 4 (SY 2018-19)		Responsive						All				
Type of respondents	Type of survey instruments	Sample Size	Number of respondents	Frequency of response	Total Annual responses	Hours per response	Annual burden (hours)	Number of Non-respondents	Frequency of response	Total Annual responses	Hours per response	Annual burden (hours)	Total Annual hour burden
CN Directors	Hard copy pre-test	3	3	1	3	3	9	0	0	0	0.50	0	9.00
CN Directors	Web-based Survey	55	55	1	55	2	110	0	0	0	0.08	0	110.00
CN Directors	Invitation Letter	55	22	1	22	0.05	1.1	33	1	33	0.03	1.1	2.20
CN Directors	Follow-up email*	33	13	1	13	0.05	0.65	20	1	20	0.03	0.66667	1.32
CN Directors	Reminder Email - Week 2*	20	8	1	8	0.05	0.4	12	1	12	0.03	0.4	0.80
CN Directors	Reminder Email - Week 4*	12	5	1	5	0.05	0.25	7	1	7	0.03	0.23333	0.48
CN Directors	Reminder Email - Week 6*	7	3	1	3	0.05	0.15	4	1	4	0.03	0.13333	0.28
CN Directors	Telephone Reminder - Week 7*	4	2	1	2	0.083	0.167	2	1	2	0.03	0.06667	0.23
CN Directors	Telephone Reminder - Week 8*	2	2	1	2	0.083	0.167	0	0	0	0.03	0	0.17
CN Directors	Thank You Letter	55	55	1	55	0.05	2.75	0	0	0	0.03	0	2.75
CN Directors	Email Notification & FAQ	55	55	1	55	0.5	27.5	0	0	0	0.03	0	27.50
SFA Directors	Hard copy pre-test	6	6	1	6	3	18	0	0	0	0.50	0	18.00
SFA Directors	Web-based Survey	2,188	1,750	1	1,750	2	3,500	438	1	438	0.083	36.50	3,536.50
SFA Directors	Invitation Letter	2,188	656	1	656	0.05	32.80	1,532	1	1,532	0.03	51	83.87
SFA Directors	Follow-up email**	1,532	383	1	383	0.05	19.15	1,149	1	1,149	0.03	38	57.45
SFA Directors	Reminder Email - Week 2**	1,149	287	1	287	0.05	14.35	862	1	862	0.03	29	43.08
SFA Directors	Reminder Email - Week 5**	862	129	1	129	0.05	6.45	733	1	733	0.03	24	30.88
SFA Directors	Reminder Email - Week 7**	733	110	1	110	0.05	5.50	623	1	623	0.03	21	26.27
SFA Directors	Telephone Reminder - Week 8**	623	93	1	93	0.083	7.75	530	1	530	0.03	18	25.42
SFA Directors	Telephone Reminder - Week 9**	530	53	1	53	0.083	4.42	477	1	477	0.03	16	20.32
SFA Directors	Telephone Reminder - Week 10**	477	39	1	39	0.083	3.25	438	1	438	0.03	15	17.85
SFA Directors	Thank You Letter	1,750	1,750	1	1,750	0.05	87.50	0	0	0	0.03	0	87.50
TOTAL		2,252	1,814	3.02	5,479	0.703	3,851.30	1,565	4.38	6,860	0.037	250.57	4,101.87

\*Based on 40 percent response rate for email and telephone reminders until target of 55 respondents are reached. \*\* Based on declining response rates on subsequent contacts until target of 1,750 respondents is reached. Initial response rate is 30%.

[FR Doc. 2018–12650 Filed 6–12–18; 8:45 am] BILLING CODE 3410–30–C

## **COMMISSION ON CIVIL RIGHTS**

## Notice of Public Meeting of the Arizona Advisory Committee

**AGENCY:** U.S. Commission on Civil Rights.

**ACTION:** Announcement of meeting.

**SUMMARY:** Notice is hereby given, pursuant to the provisions of the rules and regulations of the U.S. Commission on Civil Rights (Commission) and the Federal Advisory Committee Act (FACA) that the meeting of the Arizona Advisory Committee (Committee) to the Commission will be held at 12:00 p.m. (Mountain Time) Friday, June 15, 2018. The purpose of this meeting is for the Committee to vote on the final draft of their advisory memorandum issued to the U.S. Commission on Civil Rights focused on voting rights.

**DATES:** These meetings will be held on Friday, June 15, 2018 at 12:00 p.m. MT.

Public Call Information: Dial: 877– 719–9801 Conference ID: 4127448.

FOR FURTHER INFORMATION CONTACT: Ana Victoria Fortes (DFO) at *afortes@ usccr.gov* or (213) 894–3437.

SUPPLEMENTARY INFORMATION: This meeting is available to the public through the following toll-free call-in number: 877-719-9801, conference ID number: 4127448. Any interested member of the public may call this number and listen to the meeting. Callers can expect to incur charges for calls they initiate over wireless lines, and the Commission will not refund any incurred charges. Callers will incur no charge for calls they initiate over landline connections to the toll-free telephone number. Persons with hearing impairments may also follow the proceedings by first calling the Federal Relay Service at 1–800–877–8339 and providing the Service with the conference call number and conference ID number.

Members of the public are entitled to make comments during the open period at the end of the meeting. Members of the public may also submit written comments; the comments must be received in the Regional Programs Unit within 30 days following the meeting. Written comments may be mailed to the Western Regional Office, U.S. Commission on Civil Rights, 300 North Los Angeles Street, Suite 2010, Los Angeles, CA 90012. They may be faxed to the Commission at (213) 894–0508, or emailed Ana Victoria Fortes at *afortes*@ usccr.gov. Persons who desire additional information may contact the Regional Programs Unit at (213) 894– 3437.

Records and documents discussed during the meeting will be available for public viewing prior to and after the meetings at https://facadatabase.gov/ committee/meetings.aspx?cid=235. Please click on the "Meeting Details" and "Documents" links. Records generated from these meetings may also be inspected and reproduced at the Regional Programs Unit, as they become available, both before and after the meetings. Persons interested in the work of this Committee are directed to the Commission's website, https:// www.usccr.gov, or may contact the Regional Programs Unit at the above email or street address.

# Agenda

I. Welcome

- II. Approval of minutes from previous meeting
- III. Discuss Advisory Memorandum
- IV. Vote on Advisory Memorandum
- V. Public Comment
- VI. Next Steps
- VII. Adjournment

*Exceptional Circumstance:* Pursuant to 41 CFR 102–3.150, the notice for this meeting is given less than 15 calendar days prior to the meeting because of the exceptional circumstance of this Committee voting on its advisory memorandum that will supplement the U.S. Commission on Civil Rights' 2018 statutory enforcement report.

Dated: June 8, 2018.

#### David Mussatt,

Supervisory Chief, Regional Programs Unit. [FR Doc. 2018–12691 Filed 6–12–18; 8:45 am] BILLING CODE 6335–01–P

# **DEPARTMENT OF COMMERCE**

## **International Trade Administration**

#### [A-580-809]

## Circular Welded Non-Alloy Steel Pipe From the Republic of Korea: Final Results of Antidumping Duty Administrative Review; 2015–2016

**AGENCY:** Enforcement and Compliance, International Trade Administration, Department of Commerce.

**SUMMARY:** The Department of Commerce (Commerce) determines that certain companies covered by this administrative review made sales of circular welded non-alloy steel pipe (CWP) from the Republic of Korea (Korea) at less than normal value during the period of review (POR) November 1, 2015, through October 31, 2016.

DATES: Applicable June 13, 2018.

FOR FURTHER INFORMATION CONTACT: Andre Gziryan or Thomas Schauer, AD/ CVD Operations, Office I, Enforcement and Compliance, International Trade Administration, U.S. Department of Commerce, 1401 Constitution Avenue NW, Washington, DC 20230; telephone (202) 482–2201 or (202) 482–0410, respectively.

### SUPPLEMENTARY INFORMATION:

### Background

On December 6, 2017, Commerce published the *Preliminary Results* of the administrative review.<sup>1</sup> We invited interested parties to comment on the *Preliminary Results* and received case and rebuttal briefs from interested parties.<sup>2</sup>

Commerce exercised its discretion to toll all deadlines affected by the closure of the Federal Government from January 20 through 22, 2018.<sup>3</sup> On March 16, 2018, Commerce postponed the final results of this review until June 7, 2018.<sup>4</sup>

Commerce conducted this review in accordance with section 751(a) of the Tariff Act of 1930, as amended (the Act).

## Scope of the Order

The merchandise subject to the order is circular welded non-alloy steel pipe and tube. Imports of the product are currently classifiable in the Harmonized Tariff Schedule of the United States (HTSUS) under subheadings 7306.30.1000, 7306.30.5025, 7306.30.5032, 7306.30.5040, 7306.30.5055, 7306.30.5085, and 7306.30.5090. While the HTSUS subheadings are provided for convenience and customs purposes, the written description is dispositive. A full description of the scope of the order is

<sup>2</sup> See the case briefs from Wheatland Tube Company, Husteel Co., Ltd., Hyundai Steel Company, and SeAH Steel Corporation, dated January 12, 2018, and the rebuttal briefs from Wheatland Tube Company, Husteel Co., Ltd., Hyundai Steel Company, and SeAH Steel Corporation, dated January 19, 2018.

<sup>3</sup> See Memorandum, "Deadlines Affected by the Shutdown of the Federal Government," dated January 23, 2018. All deadlines in this segment of the proceeding have been extended by three days.

<sup>4</sup> See Memorandum, "Circular Welded Non-Alloy Steel Pipe from the Republic of Korea: Extension of Deadline for Final Results of Antidumping Duty Administrative Review," dated March 16, 2018.

<sup>&</sup>lt;sup>1</sup> See Circular Welded Non-Alloy Steel Pipe from the Republic of Korea: Preliminary Results of Antidumping Duty Administrative Review; 2015– 2016, 82 FR 57583 (December 6, 2017) (Preliminary Results).